Which one of the following was in-charge of collecting revenue, keeping record of income in the

9
Mauryan administrative sySterm’

(A) Purohit

(C) Samaharta

(E) ' Question not attempted
TiefTeli sraTr e SOt
(A) 3”3{%’6

(C) TRl

(E) i 34

(B)

(B)
(D)

Sannidhata

(D) Lunadhyaksha

ﬁmﬁﬁmmwmﬁw o7 STk 3T T TG TEaT o1

gf=gerar
A

Which of the following was the capital of Malla Mahajanpada?

(A) Videha and Mithila
(C) Kushawati (Kushinara)
(E) Question not attempted

oo HESH9E & Tera efaiEad 5 & i o e

®)

Kaushambi

(D) Rajpur/ Hatak

TSqU/8eh

AN

Rishabhnatha
Padmaprabha

(@)
BEHATT
=TT

Petro Chemical Industry

(A) fag ik faferen (B)
(©) FmR (R (D)
(E)  STJaiayd

Who was the first Teerthankara of the Jains?

(A) Parshwanath (B)
(C) ~Mahaveer Swami (D)
(E) Question not attempted

S % o dfterfeRt 9 A2

(A) AT (B)
(C) TRTET Tt (D)
(E) orgaftd o

Which one of the following acts as a “Nodal Industry” for synthetic textile?
(A) Plastic Industry B)
(C) Paper Industry (D)

(E) Question not attempted

Sugar Mills

Fraffaa 8 2 Ridfeen dewerser 3 fe o <Hreet (@) Fa 3w i e w2

(A) | Ties e (B) aaquwa’m
©) | ﬁut:ﬁhn (D) %ﬁ#‘rﬁa
(E) (3Tf v at‘“‘:a
Arrange the following copper mine centres of Rajasthan,"from North to South direction.
a.~  Bhilwara b. Udalpur
c!? Alwar d.  Khetr
qrreerT o PR i e i oy e aferor R 4 o saftem
a.  HieEmEm b. IR
c. AN d wad
Choose the oSt appropriate answer from the options given below:
<A feg e F et s e i
(A) d,cab (B) c,d,a,b
© cabd D) d,acb

(E) Question not attempted / et e

Lo1] W 2

219 [P.T.O.



10

L91]

Which i is si
A 1 _on-e Of. the following port is situated on the western coast of India?
) ~Tuticorin Port (B) Paradwip Port
(C) CKochi
E) OChl. Port (D) Haldia Port
(E) “Question not attempted

Fr=fafiaa & & i o siqumg Wi & wfinft ae o ftrd 22

G e ®) st g
&) (D) gfcear sierme
(E) Srgafay=
Which one of the following Indian state does not share its statc poundary with Bangladesh?
(A)  Manipur (B) Tripura
(C) Meghalaya (D) Assam
(E) Question not attempted
ﬂﬁ%@ﬁéﬁqmm@amm%mmﬁmﬁmwﬁm% ?
(a) =hE ®) fgu
(C) ~here™ (D) IEH
(E) “Sigufa A <
cosec(65°+0) — cot (25°—0) —sec (25°—0) + tan (65°+0) =
) 25 ® o,
(C) <i— ®) -2
(E) “Question not attempted / 3T 9= o

@P «

B sin?® 1+cos@ sin©

1+cos@ .. 'sin® “1—cos® SN
A 1 ' (B) sin©
© cos0 (D) O
(E) Questionnot attempted / TART T

f Humanities, science’and commerce streams who were

the number of students o
years 2005, 2006, 2007 and.2008 °
71 2008 T Frafireer H YawT T TS AMfER, fog afi anfosd 4ed

The table shows
admitted.in a University in the

arferr A 2005, 2006, 2007

%mies Science | Commerce
—005| 970 | 912 750
006 812 940 757
50070 985 1134 1032
008 | 974 810 1121

hat is the average number of students per year who got admisg;j dﬁ‘in c !
onin Commerce stream during °

w
given years? ) ) )
mmﬁ%ﬁmgﬁa&aﬁmmﬁmqﬁa@wﬁﬁﬁ% .
(A) 908 (B) 912 T 74T 87
915 (D) 903
(E) Question not attempted / 313i1ft?f adq
3
g P10




T the collection of folk tales (1960+1975) writer Was:
11 ‘Bagan Ri Phulwari’ from s 04 riber.
(i')um\]/il'{':yd?m Detha (B) Kanhiya Lal Sethia
©) G'f\./cri Devi (D) l)irh‘u_l Singh

1
e estion not mlcmpl.u | o |
%&21;60-1975)%Wﬁ3@‘mﬂﬁ\ 2

(A)  forrr et (B) zﬁ%armﬁfam
(C) Waaﬁ (D) Rﬂ{TJH ﬁ{ﬁ

- N
12 (\Sl)xich one of 31c following cities has become India’s First Wetland city?

(A) Udaipur (B) Bhopal

(C) Indore (D) Shillong

(E) Question not attempted

TR 3 & a0 @1 T W T 2w iy Seste) T e

(A) IR (B) sﬁma

(C) %K (D) frafm

(E) _srgafawe N

I3 Who imposed tax named “Chanwari tax” on the farmers?-

(A) Hamid Hussain (B)  Prithvi Singh
(C) (Rao Krishna Singh (D) Gangaram
(E) -Question not attempted -
R v <t v R ot e o2 ~—
(A) ‘=g, (B) uifie
(C) U= Fwr fig (D) TTRH
(B) rgafa vt
14 Widal test is done to confirm which disease?
(A) Typhoid fever (B) AIDS
(C) Dengue (D) Malaria
(E)  Question not attempted
fereTer utteor gfe e 2:
(A) TS @R (B) TEH(AIDS)
(©) & (D) W
(E) “3raf@ v ™
15 Where should be an object be placed in front of convex(jl'gs to get a real image of the size of the
object? ~

p———

(A) -attwice the focal length ~—

(B) catinfinity (@)

(C)  between the optical centre of the lens and its principal focus.
(D) at the principal focus of the lens

(E) Qucstiop not attempted

?ﬁﬁqﬁmmmwmwmmmm%mmﬁmﬁa%Wme
?

(A) mz@%mm B)  aFqw
(C)  <H% 3 R iz 3 verds ey ver ey D)  AFF T PFTR
®) i
Lo1] W 4 2% [P.T.O.




16

17

18

19

o - of its sides are -
If 1502.is the measure of each interior angle of a regular polygon, then the number are ;

ﬁ@w%mwmmmlsm%ﬁmgmaﬁaﬁé@%z
(A) €6 ®) 5
(© M2 (D) 8

(E) _Question not attempted / 3T I=

! : = = then the
In AABC, bisectors of exterior angles £ B and 2 C meet at point O- If £ 4 e mcasure

of ZBOCis:
Th AABC d s o £ B 3 £ C F wwfpnfa g o wfied & F £ AT
A9 ?-

(A) 60° (B) 59°

© s6° D) 62°

(E)  Question not attempted / 3TTAT TH

Which of the following is NOT a dominant trait in a Garden Pea as studied by Mendal?
(A) Termmal flower position (B) Yellow seed colour

© («é}fﬁ:en pod colour (D) Full/inflated pod

E) {';Ql}_estion not attempted

S R Heer T svere fve A 8, Rt & s A s oA T S S O T 87

62°, 9 £ BOC#

(A) “‘aﬁz‘m o ferfer (B) qﬁ@a‘t&rwm
©) (I‘Eguﬁﬁwtw (D) qﬁ/tﬁa"rgs‘wﬁ
(E) Srart@ys

Al

Given below are two statements: _
Statement (I): Single Cell Protein (SCP) is an alternate source of protein for animal and plant
nutrition.
Statement (II): Spirulina is one of the Single Cell Protein that can .s)erve as a rich source of protein,
minerals and vitamins etc but its growth increases environmental pollution.
In light Pf the ‘above statements, choose the most appropriagf:-ansWer from the options given below.
(A) <Both Statement (I) and Statement (II) are incorrect:c—
(B) E.SEtement (I) is correct but Statement (II) is incorrect.
© igtzftement (I) is incorrect but Statement (II) is corrécf;
(D) :B'gth Statement (T) and Statement (IT) are correct.
(E) *ﬂ‘Question not attempted
: SHITTERT ST 93] TR e} & Srgor e
A LT S 5 IR ST 1 o e i 2y

U 11z RIBITT ToHe T I A e 2 S S, @I 3l fyrs .
L Gehdl 8, g T e wateror wgwor 7 gfg Fft aﬂﬁ%meﬁa%mﬁaﬂﬁ
Sqh T o 3TTciich § fefofaa formedt # & et sw g sy

(A) I EAT SEA T B) WIW%&H

(C) HUA1¥EA e g naad (D) mmmhaﬁ%nm%

(B) i s ST

Lo1] & 5

55 [P.T.O-




d inIndia?
. an Space Centre (SDSC) located in.Ir :
20 Where is Satish Dhaw N =
o Bengall:‘; (D) Thimvantpuram
(C) (Hyderaba :
(E) (Question not allcmpgd . . -
et e S % el o &7
A) TR B) %ff%f’ﬁ'_ 1<l
Ec; AR (D) TEaEdTH
(E) oFgara ¥d
21  Identify the truc state

a.  Soapsareso '
generally sodium salts of carboxylic acids

b.  Thesoap molecules form micelles when they i
c.  These micelles are able to pull out the dirt in water
d. Soaps are effective in hardwater also ‘
The detergent remain ineffective in hard water~

ments related to soaps and detergents.

dium or potassium salts of long chain of sulphuric acids while detergents are

nteract with water and dirt (Oil)

e. o n
Choose the most appropirate answer from the options gix}gq pelow:
(A) bande B) b andc
(C) ,aandd (D) a,{?_—_a‘gd e
(E) -Question not attempted —

T it Rz & Helftrd Tt e ol e il o .
) WWW@@W%W@WW%%WWW&

E iR T ¥ 9ifsaH |au B 8l
el ETe % 310 At S Tigdt @m%ﬁq&ﬁaﬁ%?ﬁ%ﬁaﬂrmﬁ%‘l

b.
c. Afidemur & vieg e A Set fFewTe § weH o
d.  EAFSUSEH ff T g
e. I H [STTIE STIATEH Teell
A fg e foreredt # & wed ST SR T
(A) bb@l’e (B) b3ic
© “asid (D) ab3fe
(E) ,gara s e

i e:aéf"‘“
22 Find the difference between the Mean and Median of thefiié’é 6,16, 12, 4,7,35,39 and 3.
326,16, 12, 4,7, 35, 39 31 3 3 Aver (i) St e (ffeam) = st g G
@ 22 (B) 575
©) M5 o 0T
(E) Questiontiot attempted / arzafeer war (@)

lass, th i Sl
23 In Z ::hatsof e: n}lmber of girls is one less than the number of boys. If the product of the number of boys
A gilsis 272, then the numbser of girls in the class is:

e T TS o ot i @ e o 21 AR et i erefindt o6y i A 272

AL il
© 17 9 (B) 12
(E) Question not attcMptey , o (D)
o | - g (v

&
L “



= e Square and an equilateral triangle have the same perimeter. If the diagonal of the square is 123
cm, then the area of the triangle (in cm®) is :
m i 2
@ﬁﬁwwﬁﬂ“mw%%mﬁaﬁwﬁaﬁ 1243 em &7 LT i)
 fohar e
@) 43 ®) 3243
© 643 (D) 243
(E)  Question not attempted / 3TTAIE I
25 If 2x+1 is a factor of 4x° + kx , then the value of & is:
AT 4x° + hor FTOES 2x +1 &, A A FTAA M
(A) = (B) -l
© (4 =) D) 2~
(E) {;Qg_estion not attempted / 3'-!3)?111_({ e -
26 1t =L then P+ 5=
x5 2x +1 X .
X ) 1 3 1 g :-,,,fv:
S S R
x°=2x+1 x
(A) 210 . B) 216
(C 238 (D) 198 ”
(E) Question not attempted / TR T g e
.
27  Whiéh'of the following fundamental right allows, citizens ‘fo"move the court, if they believe, that any
of thgn,f;mdamental rights have been violated by the state?
(A) leght to Equality B nght to Constitutional Remedies
(C) “Right to freedom of Religion (D) nght agamst Explmtatlon
(E) %uestlon not attempted
Sreaffad & & S AT e SRRt AR o =rrerd H ST ohy enqﬁamg AR s e e T
ey I el TR STfRrehTC oh & o TRIT - =t
(A) GHATHT SRR (B) mmww
(C) g IEad T o1 31fereRr (D) iy %E‘f%mgmam
(B) Tgaf@y= ey
7
Lo1] & 2 | pTO.




llowing isa demerit of Capitalistic economy 9
28  Whichof the [ 0

(A) Economic liberty
B) Riseof Monopolics

~5OUICCS
(C) Optimum use of resot | g
¢ in pmduction capacity and efficiency

(D) Increas |
i tec

(E) Question pot attemp A'

ﬁﬂ%@ﬁﬁﬁﬁquﬁmwmwww 3

(A) anfiles Tl (B) THITERTL T 54 . ) ‘

(©) e 1 S (D) ety 6 et e A A A

dment Act is related to anti-defection law?

29  Which Constitution Amen
(B) 52" Constitution Amendment- 1985

(A) 44" Constitution Amendment- 1978 ;
(C) 64" Constitution Amendment- 1989 (D) 42" Constitution Amendment- 1976

(E) - Question not attempted

ﬁ?maﬁwmﬁfmaﬁrﬁwwwﬁﬁ%ﬁwéwﬁﬁ%?

(A) 443t dferer g - 1978 (B) 52afqﬁmmwhu=r 1985
(C) ~64at G Gie - 1989 (D) 42atwifera €eT - 1976
(E) "3¥uited 5 Od
30 Find the coordir?ator of the point A where AB is the diameter of a circle whose centre is (2, —3) and
Bis(1,4). ’
fag A 3 Fivre 3wt e :
(A; . T TR T foh AB T I h1 o1 & (ST % (2, -3) STCB (1, 4) B
© @ 3)) = @ 6,10
’ “ (D) (0,11)

(E) -Question not attempted / 3TTaftd 4

.‘m\\i‘
31 Thc "c[‘l . th Oi aroom .S d()ll | “1 0 iyl the ce g :
f E i} ble that of itS brcadth. hc COsS ‘f 1 i .
v colou ng h iling at z 5 p !

% 5000 and the cost of painti
Painting the four walls at ¥ Sl
240 permyis % 64,800.The height of the room is:

(A) 45m
© 5",‘ B) 3.5m-

; ) . D) 4m_

S;;) J;s;;r:i n:;;::;:;;d ) 4?}}‘)

e 1 o f 2 240n2?;f%lmﬁvﬁﬁm? 25 Wit sher sy @ T 5,000 AN
(C) sHier (. (B) 3.5z '

(B) @afawa (D) 4

Lot] W

i 5 (P10



32 An acroplane flying at a height of 300 m above the ground passes vertically above anoth‘cir plaz;oat an
msotant when the angles of elevation of the two planes from the same point % the ground are 897 and
45°, respectively. The height of the lower plane from the ground (in m) 1s: 3 3
BLiEk: 3oomaﬁméwagﬁm®€mémwﬁmm@ﬁw%m@; e
ST S € forrg & < fermmeit 1 S 3o 60° 37K 45° shwar: N <o & et foreT 1 S ey
LSS
100
@ 5 (B) 1003
© 150(y3+1) D) 50
(E) Question not attempted / ST IF
33 Abirthday cap is in the form of a cone having base radius 7 cm and height 24 ¢ The area of the sheet
(in Cfﬁz)y required to make five such caps is (Tt = %J
@Wﬁﬁﬂ@m% mﬁ%ﬁwmﬁw 7%:&@(331%24@“%%1 Tt it At
am?f%a msﬁsﬁzaﬁraama(atﬁzﬁ)% ( 272) Z;_;,i;‘
A) 2700 (B) 2750
(©) 3000 ©) 2640
(E) Question not attempted / STTT ¥ =
sin 29° o o o o o ‘ - 2 .2 4n0):
34 The value of = +2 fanl1° tan31° tan45° tan 59" tan79° <3 (sin? 20 +sin® 70°)is
51“2691 +2 tan11° tan31° tan 45° tan 59° tan79° =3 (sin? 20 +s’in2 70°) FAAE
cos N
(A =i (B)
-
© 2 02 (D)
(E) ,Qucstlon not attempted / AT T2
— .
35 Gangaur“festival is devoted to - =
(A) fé?fddess Parvati (B) Lord Ram | _ Y
(C) Lord Krishna (D) Goddess Lakshm1
(E) Questionnot attempted Y
(A) &t arEdt (B)
(C) WEAF (D)
(B) a5
9
Lo1] Wy mve
23y [ P.T.O-




. which folk drama art? it
36 Lacchiram is related 10 (B) Kuchamani Khayal

(A) - Hela Khaya! al (D) Jaiptti Khayal
(C) Shekhawati Khay! -
empted

nnot at
(E) Qu;;‘;w reell @ TIE 82 :
Tl (B) FAMf AT
(A) Rer@E D) ST A
(C) YEE @I (D)
() orgufd ¥4

37 In which of the following city iron and steel plant is situated in Karnataka?
(A) Bhadravatl (B) Salem
(C) Burnpur (D) Durgapur
(E) Question not attempted

Sraffag T & Tl & o BT A Sie-5euTa 647 feera a7

(A) st (B) WA
© X (D) F-
(E) - 34'-13?@'3{’5
38 Who gave the famous speech ‘Tryst with Destiny’? ;l
(A) Pt.JL.Nehru (B) Sardar Vallabh bhai Patel
(C) -Dr. Bhimrao Ambedker (D) Mahétma Gandhi

(E) “Question not attempted

fome fag ety (Tryst with Destiny) SR sror ﬁﬁaﬁﬁaw

(A) 43T (B) TERTEETE R
(© <. ¥iuya st (D) WETeHT e
(E) 3rafa v

39 Koraput Mmmg Centre is located in which of the following state.? .
(A) Mabharashtra (B) Karmnataka
(C) Odisha = (D) Andhra Pradesh
(E) Question not attempted
aﬁuqzméaﬁqﬁf?%amﬁﬁw%? =
(A) e (B) mﬁa
(C) sHifsm (D) amxsi%m
(E) qaftauy M\'

40 Which one of the followin
(A) Number of females i
(B) Numbcr of males in
© Percentage of men 4
(D) Population density
(E) Questiof; ot a

Fraforfid % i
() S g R R it

© mwgmwwq%mﬁm 8;; Hﬁmﬁg::!aw
Lot]

g component is NOT reﬂectcd m Age—
In percentage
percentage L'; g

Sex pyramid?

nd women in each age group

llem pted

10

°E

5% [P.T.O-



41

42

43

CaO f‘*-,,HzO —> Ca(OH)2 + Heat

The given chemical equation is:

~a.<  adouble displacement reaction b.  acombination reaction
¢~ adecomposition reaction d.  exothermic reaction
Choose the most appropriate answer from the options given below:
(A) <bandd only (B) bandconly
(C) (a'and d only (D) aandconly

(E) Question not attempted
CaO+H ,0—> Ca(OH) + Heat

%mwmﬁmqﬁw%
a. U el ferenmm wfafsrn b. T TS SffsRaT
c. U fge vl d. e wad gfafshar
e faw T ferepeat 8 & wrarifren Suge ol
(A) mbﬁtd (B) Shae b 3T c
(C) Facasittd (D) FacTadc
(E) c3rgaiaus B

The égr_‘é:‘ted drinks (soda water) constitute
“a~’ A mixture of gases

b.  Gas in liquid solution

) Liquid in gas solution

g >
d. Carbon dioxide as solute and water as solvent

o

Carbon dioxide as solvent and water as solute "
Choose the most appropriate answer from the options given below:

(A) banddonly (B) a,canddonly
(C) b,dandeonly (D) candd on[y_
(E) Question not attempted e
TS e AT 3 (AT )
N ﬂlﬂ &1 fasror 21 \V
by T A R =

%) ToFaadae gl
"(ID ﬁ@m%mﬁmﬁqmaﬂtm%mﬁwl
foramareh 3 &9 7 e STgATaHTsS aﬁtﬁéﬂ%mﬁqm

ﬁ%ﬁ?ﬁqﬁmﬁﬁm’rﬁmmﬁwaﬁl
) S aitd (B) ¥ra, c3fieg
(©) FaAb,d3fe (D) %aacaﬁ(d

(B) IIgai@ay=

‘Beti Bachao, Beti Padhao’ scheme was launched in which year all OVCr Indi
e, A Yerl Ao e ad wepl W Awmgdy L0 02
(A) 2015 ®) 2016 W

©) 2017 (D) 2014

(E) Question not attempted / 3TTAfd T

Lo1] &y 1

258 [PT.O-



44

LR i?
the IX Asian Games organised in New.Delhi?
vas the 1/

In which year V

N Rl STcl BU? S
4 Rl 03 QU Qe feu a1 fra g &)
(A) (1981 (D) 19802
083 3‘33&?7 T
:f)) ‘Oucsﬁon not attempted / , i L -
Sk as the father of the Indian Constitution? s '
45 Whois k"l(“v;‘);;l;[ (B) Mahatma Gandhi
22)) SDlrnl;nrR g mbeiler : (D) Jawahar Lal Nehru
tion not attempte
%a%lg;m 3 e o &9} FoRRY STHT ST 87 .
A) FERRS (B) H&TeHT TTEt
(C) <t e (D) TS &%
(E) oy 94
46  Short- Circuiting occurs in the circuit when
(A) _Many appliances are connected to the same socket,;::: .
(B) .Live wire and neutral wire come into direct contact y}ith each other
(©) (Neutral wires of two appliances are connected accidentally
(D) (Flow of current in the circuit reduces abruptly ()
(E) ‘Question not attempted ()
Afhe T AT (circuiting) o1 BraT 2 51 - S
(A) & 390 O @ e & 93 A ) x—
(B) e TR, 3t e e v gt & i i o oy 8 O
(© < 3 gy e 2 e e & g
(D) R & ST 1 WerTg Sfertes 37 2 T &
(E) 3gmita oy
47  Match List-I with List.[[
k;s;s:cal Quanti Lis.t o
2. Ciitent ty Unit of Measurement
b Resistance L Ag_l}?gre +stcond
C~.  Power ot Vg\j;;amp i~
4=y Charge 1. Ceplgmb/second
RISk Cill ﬁm% Iv. Vgll/émpere
.| ' -
i gy -1
b. wftuy L o, g
c. g 1L 9. undg
d. W@y . FamRds
Choose the mgst:appropriate an ; v W‘“
A faw o fades 3 e FOM the options given below:
(A) a-1V,bzl e 0 :
©) a-ll[,‘b-",c.lv'd_ (B) a-1v, b -1 c-ILd-]
(E) Question not au”"mcd/ D) a-1 b [V’l >
%9’3{ ) »C-II,d-1
Lot Wy

12
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48

49

50

51

52

Which.one was the first geostationary satellite launched by ISRO in 198 1?
(A) <Aryabhatta (B) APPLE

(C) CGSAT (D) INSAT-B
(E) “Question not attempted

1981 H 3HU (ISRO) ST et fofer Tram wer syl Soare oty onm?

(A) JwhTE (B) TWH (APPLE)

(C) <@z (GSAT) (D) INSAT-B (3782

(B) 3gai@ws

About which of the following fort has it been said that it is an armoured (Bakhtarband) fort?
(A) Taragarh (B) Nahargarh

(©) Ranthambhore (D) Siwana

(E) Question not attempted

i Y e R S d T T AR o e (et ee ) R ©

(A) _dEFTE (B) FEUE

(C) . TremiR (@) Ramw

(E) ¢ mﬁaw ¢

Who constructed Hawa Mabhal?

(A) quawal Jai Singh (B) Riijiﬁ\/[an Singh
(C) <Raja Bhati (D) Sawai Pratap Singh
(E) CQuestion not attempted o

BT W & (i e s ' ;f

(A) gars s 68 (B) st o g

(C) TSI (D) wﬁmﬁﬁ

(E) AFaRa

Captain Hawkins and Sir Thomas Roe visited the court of which Mugha] Emperor?
(A) Jehangir B) Shahjahan

(C) <Humayun ) Akbar

(BE) Questlon not attempted

o T “m%mﬁ%@#ﬁ%&rﬁtmm%ﬁn%m

(A) 5‘3"“{ (B) ESEl
. ,

(C) B (D) IF

(E) - :ﬂﬁft?r 94 <

Vedxl(:a %malak Shikhar are associated with (e

(A) Havelis= (B) Temples ..

(C) Forts ' (D) Paintings =%

(E) Questionnot attempted
iz, 3T, ﬁ]@t%ﬂﬁqﬁﬁﬁ%ﬂ

(a) T ® whw
© f& (D) Tt (ifery,
() ouRaud o

Lo1] & =

EYE
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e X

nents:
) two statem under the chairmy
53 Given below arel British Government formed a commission in 1927 Nship Of §;
« The (
Statement (I): Th

John Simon which wdb;:ll‘l:gjlcl: ?:cf:::rl:] l,ilsl:)l’: comml(ssnon but none of them wag an Ip dian,
= (“)lTl\:rsLmtemenlS choose the most apPropnatc answer from the options ¢ Ziven be eloy,
::)hgl;;:;u;;;;em (1) and Statement (1I) are false.

(B) Statement (1) is true but Statement (II) i 1? false.

(C) Statement (I) is false but Statement (II) is true.

(D) Both Statement () and Statement (II) are true.

(E) Question not attempted

= A Ry E ‘
BT s mmﬁwzﬁwmmﬁmﬁwmmmﬁﬁmﬁ@rmm
e TR

HAT-11 mﬁmmﬁrmmﬁﬁﬁé%ﬂﬂmﬂqﬁw
mm%mﬁmﬁmﬁ&mﬁmmaﬁ
(A) "= (1) ik (11) 3T sraer

(B) o () Fer R, forg oot (1) Srwieer 2
(©) 2 (1) 3 ], g ot (1) w2
(D) ‘= (1) 3t (1) At ar

(E) aﬂaﬁaw

S4  “Uparmal Panch Board” was formed by
(A) Ram Mllan Lohia

(©) Vijay Smgh Pathik
(E) Questlon not attempted

(B) Brahmadeo
(D) Rao Krishna Singh

SAGICREE PR & g T T oo <t
(A) T firem S (B) sRRE-
(©) Forsr firz s (D) T firg
(E) rafa gy 5.3

55 Alunedfiifgar Was merged wi, Mughal Empire during thé'reign of
(A) Jehanglr_“ (B) Sﬁ{ah_]ahan
(©) Aurangzep (D)  Akbar
(E) Questionnog altempted
Wﬂmﬁa’ﬂmmﬁ — H T e ¥ e
(A) sy (B) WT%T’IB'I'
(OF
(E) “ﬂﬂﬁmﬂh s

Lo1] W
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56  In which year was the National Statistical Commission (NSC) setup through 2 resolution ?
trg‘haﬁsaaﬁramﬁm S.C.) fraad ﬁw%mwﬁﬁgmm?
(A) 2005 (B) 2008
© _20(“)9 (D) 2004
(E) _Question not attempted / Naﬂ'ﬂ?f BE)

57 Given bélow are two statements:
Statement (D : Sindhu Saraswati civilization was famous for town planning.
Statement (II) : The advanced Sindhu Saraswati civilization was developed amongst Sindhu, its
tributaries and Saraswati river area. .
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are incorrect. |
(B) Statement (I) is correct but Statement (II) is incorrect.
(C) Statement (I) is incorrect but Statement (II) is correct.

(D) 'iBbth Statement (I) and Statement (II) are correct.

o= II Wﬁgmmwﬁiﬁmmaﬁmaﬁﬁaﬁw@ﬁﬁéﬂ%ﬁﬂﬁm

o1l
WW% AT H, ﬁmwﬁmﬁ%mﬁwmwaﬁﬁq
(A) A I AT IAT 36 Bl (B) e 1 G &) foheg e 1 3T € |
(€ FAI13EAR, g w18 (D) Wlaﬂtﬂrﬁzﬁm%l
(E) 3TJaia g2
58 In 1800 A. D. who was the first person to call present day Ra_]asthan as Rajputana?
(A) James Tod (B) George Calony
(C) James Rizu D) Geogge Thomas

(E) Questlon not attempted
a 1§00§ﬁaaaﬁwwﬁﬁmﬁuﬁméswmaﬁwmw

(A) ¢ @n:erzr:c: (B) SSUhelY
© i WERLEELS
@® S '

< "
59 Ozongﬂycr of the atmosphere acts as a natural shield agalns

(A) Gamma radiation (B) Ultmvnolet mdlatlon

(C) X-rays (D) Infrared md!‘a_.tl oi

E) Question not attempted &5

o e < S T MR BT o €9 A 3 forrg el ey 3

(A) Tt faafaRtoT (B) matm Refmor

(€) L (D) i)

(E) HA@Rayd

15 ;

i g% [P.T.0-




60 - [ wo statements:
Statemcnl It i ¢ carrl ascientific manner-with Special emp
1 he feeding of cattle should be carried out m S
t(I):

in the quality and QUantlty of fodder. S o
S dn: Milk ylc]d 1S prlmarlly dependent on the-quality
ment )
tateme f the above statements, choose the most appropriateanswer from the options given bel '
In lightof'thc a |

Both Statement (I) and Statement (1) are incorrect.
0

A)
(B)

©
(D) Both Statement (I) and Statement (II) are correct.

Statement (1) is correct but Statement (11) is incorrect.
al

Statement () is incorrect but Statement (II) is correct.

(E) Question not attempted

EIE R COENCR) S

T I: Tyl T TG SR alih @ i st =i, ﬁaﬁaﬁaﬁrmaﬁtwwﬁq}qﬁh
ST TRy

HUTIL: mﬁmmmﬁmﬁﬁmmﬁwwﬁﬁm%
mm&mﬁﬁﬁ%ﬁaﬁmﬁﬁwﬁmmwaﬁ

(A) = (1) 3 (1) AT e E (B) W(I)w%ﬁﬂwm)m%n
(C) "o (1) ey & fig o (IT) T 2 (D) ﬁ?iEF)ﬁ((IDﬁﬂW%I
(E) faﬁ_ﬂaﬂasr%r Q\W

61  Where is Mauritius island located:

A Atlantic_;Qjc/;ean (B) Pacific Ocean
(C)  Arctic Océan (D) Indian Ocean
(E) Questioh not attempted
T i et R _
(A) ~EHIRF TRraTT (B) wwIiT W@
(C) 3T weramm (D) &2 TETaTR
(B) Fefamg :;,;:;:

O

62  Which one of the following introduced th

¢ practice of Suda and Paibos in the royal court?
(A) Jalal ud- din Firoz Khilji

(B) Balban
(C) Razia Sultan (D) IltutImsh
(E) Question not altempted
mﬁ@ﬁmmmﬁmﬂaﬁtmﬁwmﬁ?
(A)  STSTIRF-S3H- R Ry (B) e
(©) Tﬁﬂﬂﬁﬁﬁ

(E) @ (D) segat

o 0-



63  Which fort of the Sisodia Rajputs is situated on the banks of river Gambhiri and Berach?

(A) - Taragaxh Fort (B)
© »Mandalgarh Fort
(E) “Question not attempted

: TAlt ot 1 9T foper ety 3t S (g w1t 3 e e 27

Bhainsrodgarh Fort
(D)  Chittorgarh Fort

eSS B) g el
(© SR Fen (D) Frdtgmgat e
(E) rgaf@wsr

64  Identify the statement, which is NOT correct for an Hypermetropic eye
(A) The defect can be corrected by using a convex lens of appropriate power
(B) The light rays are focused in front of the retina
(C) The person is not able to see the nearby objects clearly
(D) =The near point of the eye is farther away from the normal near point (i.e. 25 cm)
(E) Questlon not attempted
I o v R, < B el g de m@aﬁa)waaaa%qaa‘rﬁ%
(A) WW%W@HWMH%@ﬁ%%mWW%
(B) - mfﬁﬁ%ﬁm%wﬁﬂéﬂﬁl
(©) - wﬁﬁmwﬁmaﬁwmﬁqﬁ%@wﬁ
D) ﬁawﬁmﬁawﬁwﬁaas ﬁd’r)@raxﬁraﬁat%l

(E) 3rgafw gz

65  Ability of the eye lens to change its focal length to see objects placed at different places is called:
(A) Power of *Accommodation (B) Power of Adjustment
(C) Power of Regulation (D) Power of Ylsmn

(E) Questionnot attempted

el b1 afafia e T T A mmﬁﬁmmw@mﬁ%@wm% gl

% @-.m‘
(A) ‘tma:ramm (AT T THHIST) (B) Wﬂﬁﬁmmm

(©) ¢ %ﬁwmmﬁscwm‘qam) (D) a{ﬁfﬁmﬁﬁmm%m)
(E) - aqq?ri’(a A
66 Whod ;15; the author of “Justice for the Judge: An Autoblography" oy
(A) Ranjan Gogoi (B) Sandeep Sahu
(C) Namita Gokhale (D) Amrit Mathur

(E) Questionnot attempted

wsifieg B G IS o SRR ¥ AGEH P E?

(a) oA | ®) e
() A e (D) ST -
(E) FgaasH

Lot] Wy 17 58 | pTO.




67  RTI (Rightto Information) bill received Presidential assent, in which year?
(A) -April 2015 (B) Julyv 1994
(C) (June 2000 (D) J”T?,;"_OOS
(E) Question not attempted 4

TR, 17, (e o AT Fer ) gy o e o e ey

(A) 32015 (B) s 1994
(C) [ 2000 (D) 732005
(E) orgai@ys

68  Find the value of (2 Median - Mode) of the data 5, 3, 8, 11, 13, 8, 19, and 24.
5,3,8, 11,13, 8, 19 37 24 T (2 miftarasy (Fifeam) wrgE @) o Fa@ hifse:
(A) 95 : (B) 10
© 1 .. (D) 8
(E)  Question not attempted / 343?1'&?[ BES

69  Ifa40m ladderis placed against a 20/3 m high wall such that it just reaches the top of the wall, then
, e

=

the angle of elevation of the top of the wall from the base Bj‘;ghe ladder is

Al 40 e Tt i = 2043 ﬁa'ﬁm%m@sﬁ-w@t@mﬁﬁaﬁm%ﬁﬁﬁa
ST, T Et 3 T & e 3 oy S sy - Ie'S)

A

(A) 450 B) 605
(© “50° (D) 30
(E) _Question not attempted / ST I5F Z‘g;

[ &
S

e of[(;;_5)+{(4_2)+(2+£}] il

13
[(8 =5)+ {(4—2) + (2 +%JH FIAE -
Ay =1 B
(A) 17 BN (B) o
iy i
C) | i 13~
= 20 D) >—
(E)  Question not attempteq / ST g )
i o
71 A man from the top of 4 100 high tower observes a ¢

armoving towards the tower whose angle of

1 1 (] . .
depression is 30 tme the angle of depressionbecomes 60°, The distance (in m) covered

- After some ¢
by the car during thi time i

b
loozﬂaﬁm%sﬁﬁ@aﬁﬁ@mﬁmﬁaﬁiﬁr

. T A R, Rt srerme o 30° 2
@maﬁmﬁwmﬁw%mﬁmwmmﬁ“ﬁ@mﬁ)ﬁ
20013 ¢
@ =@ @) 10
© B @ W
(E) Questionnot aucmpted/mﬁﬁawﬂ ]

[

ol | P.T.O.

5]
{10}
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72 What kind of lens is present in the human eye?
A) =Bi
(A) . lgoncave (B) Planoconvex
(C) “Planoconcave (D) Bfconvex
(E) Question not attempted
7T ﬁ%ﬁﬁamwﬁa%ém%?
(A) SyamEed (B) wHGEINT
(C) wHdEaA (D) WA
(E) IJaiay
73  Burning of coal to form carbon dioxide is a/ an reaction
(A) Displacement (B) Ocxidation
(C) Decomposition (D) Reduction
(E) =Question not attempted
4 p
&) S (B)  STEEIHTT
74 Whlci?&f the ‘given nutrient cycles is sedimentary type??Choosé :tPe most appropriate option from
below) 5 :
(A) carbon and nitrogen cycle (B) phosphorus and carbon cycle
(C) sulphurand phosphorus cycle (D) carbon and“‘stilphur cycle
(E) Question not attempted .
:ﬁ%ﬁqqqqﬁwaaﬁﬁ%aﬁ?wwmﬁ i) SRR AT B 87 (0t & wrerdy e foehe %)
(A < ST (B) TR I FE =5k
s = Fla ST TTHT
© TH ST BRI T5h (D) oS EED
®) (FFTH
D st
15 Which district was NOT a part of Indira Gandhi Canal project in First Stage?
kel ;
(A) (Gapganagar ®) lslxkager .
© Jodhpur A
(E) Question not attempted _ el
mwﬁaﬂ?mﬁméﬁmﬁtﬁwmﬂﬁm'ww & -
. y B a}m ". ’
(a) TER ED; £ {
(© SEx 3 =,
(E) SIENICRE i
19 e,
o) 0. "
Lo1] & 53 (P10




76

77

78

L91] @ 20

Who was selected as a President of the World Bank in 20232.

0.was . | .
(A) ~Amit Agrawal (B) Ajfl?( Banga )
(C) “Janardan Prasad (D) vaccn Soo

(E) .Question not attempted

72023 % T ¥ % ST h & T forerehy < g e

(A) fira smmaTe (B) ST &
(C) SARAYER (D) AT ET
(E) orgafawn

Match List-1 with List-II

List-I List-II
Disease Causal Organism
a. Fiiariasis L Haemophilus influenzae
“b.~  Pneumonia II. Pla;modium
¢.”' Malaria L. Sdlimonella
4" Typhoid IV. Wicliereria
TIR G-I & gifera ifvra
oy T et
a. R L ooiftem s
b.~ =pslfea L Sy
c. wifa UL Wemtder
. TEERE V. g
Choose the most appropriate answer from the options given below
(B ~a-Lb-ULe1v,q. (B) a*zl\éeb-l,c-ll,d-nl
© fa-Lb-1v,c.qp, gy @) alLB-my . g py
(E) Qqestion not attempteq / TN oy (gi:\?
(Vlvl\})uchE ;)e':r:::f ;1:1 :‘:;izzwing converts mechanical energy }ﬁgg;electrical enérgy using Faraday’s Law?
. (B) Battery
(C) Rectifier

e (D) Electric Motor
(E) Questionngyg altempteq ’

R 3 8 03 3 P SN
(A)  TRF S S s ﬁﬂ“ﬁﬁﬁ%ﬁawm

(B) b
EE) A g (D) TfERF e

5% [P.T.O-



79

80

Identify;the statement which are incorrect with respect to rusting.

wa-= coat of paint on iron rods prevents rusting

P ' galvanised water pipes are not normally used in homes

c.”  rusting is a physical change

. salt water makes the process of rust formation faster
Choose the most appropriate answer from the options given below:
(A) “a)band d only (B) a,'bandc only
(C) bandconly (D) aandd only

(E) Question not attempted
3G U ] YA L Sk ST @ & ey 3 T T )
a. WRFAITeRITH FTATH Ahar 2l
b. TGS AT UST AR T o & S50 7 21 1
c. ST M U sifaen uRed &l
ST e Y s R iR e T A

ﬁﬁmﬁﬂﬁﬁmﬁmmwaﬁl oy
(A) ( ma b3fd (B) eieta, b3ic
(©) b aiic (D) éﬁﬁfgaﬁtd
(E) igﬁﬁaw v
Match List-I with List-1I
List-I ListIl
Folk Art Material ...
a.  Paane I. Wood S
b. Phad I Wwal& ﬂo_o;:’
c. Mahdana III. Cloth
d Kavad Iv. Paper
Tl- I%m G-I =1 fire ifsg -
P q\%ﬁ -1 u@fl[
7D Armwer W""ﬁ
- qi L ahst
- g I Rt et
}; e I s
d. FES Iv. s

Choose the most appropriate answer from the options given below

2 fow e P i & wrarifere IR ST AT I IR

(A) a-Lb-Mc-MId-IV (B) a-lLb- ch Mdsy
(© a-I,b-TLc-1,d-1V (D)aIVbIII,c ILd-]

(E) Question not attempted / it 94

21
Lo1] W&y

Eg [ P.T.0-



81  To which place of Rajasthan does Theva Art belong?

(A) -Jhalawar (B) Churu
(C) (Pratapgarh (D) Ud_i]ipur
(E) Question not attempted
RSB CEA SRR BTGy A —
(A) W ®) TE—
(©) (wamg (D) ST
(E) gaRawy

82 In which year the United Nations was established ?
HYTHS He Y T e 5 2
(A) 1945 \ (B) 1947
(C) 1948 (D) 1944
(E) Question not attempted / Nﬂ'ﬂfﬁl‘ e )

83 The nitrogenous base not present in DNA is - ~::i-
(A) Thymine (B) Gflianine
(©) Adenine (D) Ugﬁ
(E) _Question not attempted if‘“:j
ST P AR () TG TR 7 L
(A) Cusfim i (B) TR
© wrgs ®) o
(E) rgafa s

84  The name 0fth¢ first transgenic cow that produced human-protein enriched milk was:
(A) Rosie ¢, . (B) Eli Lilly
© Kamdhqrilj_ (D) Dolly

(E) Qgestiog not attempted
S-S 7 90 3 e e s rver ey e« <

() s ®) hfgeh
(© iy ®) T
(E) ?ﬂ'iﬂﬁﬂgﬂ .

85  Withreference to the Goldep Quadrilateral Super highwd;{-prOject-
East-West Corridor connects Go

(A) Imphal = Porbandar
(C) Silchar — Pprbandar
(E) Question not attempted

ﬁﬁhwwwmma:m,@mqmwamamﬁﬁm@

(B) Rajkot - Silchar
(D) Imphal - Rajkot

(A) T (B) TSThe-Ryersre
) Tt (D) FEIEAISHIT
() araitd

L91] @ 22
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86 Amng¢ the following ports of India from North to South direction.

<@~ Vishakhapatnam

Cc..) Tuticorin

m%ﬁm%f@am@awaaﬁmﬁaﬁmﬁmaﬁaﬁtmﬁmﬂ

a._ faemEraey

[N

b.  Paradwip
d. Chennai
b. UTEY

d. ==

Chodse the most appropriate answer from the options given below:

e fog e et & & i Suaes 3o ww it

(A) a,b,d,c
(©) b,a,d,c
(E) Question not attempted / 3TIARA ¥

87  Which is the highest mountain peak in India?
(A) _Mt. Kanchenjunga
© . Mt. Annapurna
(E) CQuestion not attempted
HRd ﬁ e et wea A S R
(A) ST add
(© st
(E) CIrgafaw

(B)
(D)

c,b,a d
b,a,c,d

Mt. Nanda Devi
Mt. Everest

(B)
D)

@ .

et et ol

Y)Yy
()

(B)
D)

88 Haldia port was developed as a subsidiary port, in order to relievé”growing pressure on the which

port?

(A) Paradwip

(C) Tuticorin

(E) Question not attempted

(B) Kolkata
(D) Chennai

o SiaTTE T SGQ SaTTa &1 HH L o ferg mmﬁ@mm%mﬁmﬁam

e '-4);'-—

T A
A) |, thl’sﬁTT

© coiRtE
(E) @WW

89 Whocvas author of the novel “Anand Math™?
(A) Veer Savarkar
(C) Rang Bapuji
(E) Question not attempted

s37TE W I o @ i A7

(B) aﬁawm
(D) %———r%

(B) Lokrﬁanya Tilak
(D) Bankim Chapdra Chattopadhyay

(B) mﬁam
(D) S o ey



|

90  Rajasthan State Industrial l)evelopmen.l and'ln\teslmem Co_rporation Limited (RIICO) has deVeloped
Agro Food Park in which of the following district? 1,_ :
(A) “Churu (B) U(_i?l.-lp?r
(©) “Kota (D) Jalpur.
stion not attempted < " «
L T ST —
EIE) et
GV (B) AL
(C) Hr (D) SEFE
(E) orgafasy
91  What is the ratio in which the line segment joining (1, -5) and (4, 5) is divided by the x-axis?
e ST & e (1,-5) 3 (4, 5) T sTe AT e € xaxis T Rrmfera ST
(A) 322 (B) 2:3+4
(©) “1:1 D) L4—
(E) ' Question not attempted / SFyafier war 11’
92  Arectangular garden of length 100m and width 80m is toﬁ‘géff:urmunded outside by a 2.5m wide path.
Whatis the cost of paving the path at the rate of ¥ 120 perm??
100 Hiex daré 3fit sowmmwmaﬁﬁ%ﬁz.s XN art F TS N T 120
sttt =t et e & o o e <6 e 2 T
(A) T 1,10000 (B) 1,11,000_ -
©) T 1,16,000 (D) ¥ 1,08,000
(E) Questiorjl not attempted / SR ERGRE
93  The length of a'rectangle is 30 cm and its area is 720 cm? Its areé is increased to ll times than
original area by i’ncreasing its length only. The perimeter.ng cm) of the new rectangle is:
axmaa?rﬁal's%soém%aﬁ(méawno e R %aé-ﬁaﬁq%mﬁwm et 7 S
¥ J QP
a1y TG I B S o oo @t 2 OO
(A) 125 ®) 1o~
©) -121 (D) 123
(E) (Question not attempted / Srafa vy D
94  If mean of the data , (2k-1), (3k+2), 5, 8, 10 is 9, then what is its median?
afE 2Tk, (2k+1), (3k + 2), 5,8,10 %1 mvey (i) 9 R, ST WA (i) a9
(A) 85 [ B) 7.7
©) 8 (D) 11
(E) QucstiOf) not attempted / STl uy
@ 24 5% [PT.O-
191 ]




95

97

98

99

Lo1] @y 25

1 2
Y (logx +log y) will be equal to log( ) If
. 2

~

5(19;;{} log y) 3R IOg(x;y] S A, A

=7
(A) 52 (B) x=y
© x=Jy (D) y=0
(E)  Question not attempted / ST w5

\/90 + ,/90+,/90+ ?2 =2

10 ®) 18
© <20 D) 9
(E) "‘Qtlestion not attempted / 3TIxRA T4 \

If two numbers differ by 24 and their product is 112, then the sum of the numbers is :
af et & 24 1 3TqT ST AT MRS 112 %a’mwaﬁmah%
(A) 40" (B) 32
(C) ‘ (D) 28~
E) Question not attempted / 3TTTRA T

A started a business by investing ¥ 1,00,000. After 3 months, B jbinéd him with certain investment.
At the end of the year, out of the total profit of ¥ 1,80,000, A received T 36,000 less than B as his
share in the profit. How much investment was made by B?

AT 1,00,000 e ek ok sre@r A1y feht, 3 mqu@ﬁém%mwﬁagm ELEE
431, 80 000 % FET TN H & A Hr T & &0 A B % ol AT, 36,000 7 ety B:‘rfﬁmﬁaw%mw
(A) t_x 90,000 (B) Z.1,95,000

(C) 5?‘2,00,000 (D) X 1;84,000

(E) f‘:;ﬂﬁ'estion not attempted / 37T 9

- s

b Y

A, B1and C entered into a partnership with investments in the ratio of — i _(l’ after 4 months, A

increased his share by 50%. If the total profit at the end of one }'Car be 3z 221 6?;) . Sthen I
profit is:

A, B aﬁtc@mﬁmﬁﬁ L= émarrmftﬁ%:'TM§ 41;13%“3 A 3193 fred & 500 9
R TFE Al F mﬁwm? 21,600 ayrar & v et i B & e o
(A) T 2400 (B) ¥ 3600
(C) 4000 (D) 2100

(E) Qucstiori not attempted / STa'ﬂﬂ'd oA

2§ [ P.T.0-




. He must cut dq
is tour by 4 days W
100 Vipulison tour and he has T 360 for his expenses. If he exceeds his

F e nses by ¥ 3. For how many days is Vipul on t_‘o}'w‘? =
g:;a;;;xgiﬁtmg*mm@ﬁ%%maoz@%la@ﬁgﬂﬁgﬁ;ﬁ‘“ﬁﬁﬁ P
are S 8 3 o N et e frger for ft o FTC T

(A) 21 ®) 197

(©) 20 D) 18

(E) Question not attempted / agafa:agg

101 “Operation Flood” was associated with:
(A) Green Revolution (B) Pink Revolution
(C) White Revolution (D) Disaster Management
(E) Questionnot attempted

TN TS [ greifed a1

(A) -wi@swifa (B) ’l’ﬁ'@;a"'ﬁf
(© Aasmfa (D) AHIEE

(E) Sgaiays

s

102 Which one of the following is NOT an agricultural problem of India?
(A) ¢ Encouragement to organic farming ‘
(C) Decline in the land Fertility
(E) Questioi}:piot attempted
Prefefaa ¥ A E w1 i ok S T -

(A) S T H Newre (B) =S glemsti = ang

(B) Laé?gf irrigation facilities

(D)  Small size of ploughing plot land

(C) i S i firae

(D) AT 47 6 U BN arrem 3 wr@ve
®) s N L

103 Which of the following statement is NOT correct about t;%}foot loose industries?
(A) (They are dependent on specific raw material

N
(B) “They produce in small quantity C\Pf;
(C) _Theseare generally not polluting industries 9
(D) -Jtcanbe located in a wide variety of places ::‘-—
(E) "Question not attempted ()

T I 35 e i 4 e e e vl 2
(a) A TR o e o P oy 2

@B A S ey

(© T IITEOIR: st ey &

@) T T S o Regr gy e

(B) S 3
1 2%

243 [P.T.O-



104 Who was the king in France, at the time of French Revolution?

105

106

107

(A) <Louis 18
(©) C(Louis 20™
(E) “Question not attempted

(B) Louis 19"
(D) Louis'16"

SR Shifer o werar whi ot o < e
(A) -g‘s‘lsal B) & 19af
(© FR204f (D) TEieat

(E) i war

Where did Gautam Buddha gave his first sermon?

(A)  Kapilvastu (B) Bodhgaya
(©) Samath (D) Gaya

(E)  Question not attempted

TIIGH S5 YO S aetqee et i am

(&) g @) s

© g (@) I,

(E) et ws o
Whowas the pioneer of ‘Anuvrat Movement’ ?

(A) "Dayanand Sarswati (B) Vjﬁ)éiianand
© {“‘Kéilarya Tulsi (D) Kia’sﬁ;;v Chandra Sen
(E) Question not attempted
(A) TG qLEd! @) e =
(C) ST= et D) ama?i”r‘s:@?
(B) a3 e

Which-of the following statement about the arid soil of‘Ré:‘i_éxsthah is not correct ? (Choose the most
appfﬁ;i;:.f-{;}te option from below) . D)

(A) &A{Ed soil is generally sandy in structure and saline innature.

(B) CIthas sufficient amount of nitrogen and humus.

©) “ATid soil is poor as it contains little humus. N ‘
(D) “Arid soil range from red to brown in colour. ~ )

(E) ducstion:%agcmpt?ﬁqﬁaam Wﬂ%‘fqﬁ%‘?(ﬁﬁﬁ%m
e i gk 1 ¥ weg |t fepeq =
A) W@W:Wﬁﬂiﬁﬁﬁﬁ'awma L b
(B) T AT SN g w3 € 8

© awmgmgﬁwmmﬁmaﬁﬁl

) w@mhméﬁmwaﬁm’%l

(B) ruradd

27 ae
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suth on Indian map.

as placed from N(’rth:‘f) .

108 Arrange the following rivers of India

a. Godavari b. Kavcn

¢..  Chambal d. Nf‘","?da -
frfafaa ARl Y ST 3 TR TS ngﬁmﬁmwalma :

a. TeEd b, @Eil-

c. 9= d. TR

Choose the most appropriate answer from the options gi\)cn below:
Y R 7 freredt & & watfires Iugw It 1 = I

(A) c.dab (B) c,adb
(©) c,b,a,d (D) c,a,b,d
(E) Question not attempted / STITRA T4

109 Who issued a new Calendar “Ilahi Era”?

(A) _Shahjahan B) AkPﬁz:r
© Jéhangir (D) Huniayun
(E) “Question not attempted (sj‘?
(A) -STESTEl (B) ST
(C) st (D) T~
(E) ‘oiaf@yx oD

110 The given table’shows the number of students of Humanities, Science and Commerce streams who
were admitted in'a university in the years 2005, 2006, 2007 and 2008
anfert 5 7 2005, 2006, 2007 37 2008 # ferafirerer & e O A HARER, iy st AR G

& Tl <l T g T &
| Year | Humanities | Science | Commerce :
200s| @1 | o12 | 70 iy
[(2006 @12 940 757 o
(|2007 | 985 d13D [ 1032 )
2008 974 (810) 1121 (an»)

Y

The ratio, of the number of students admitted in Humanj
to that in science stream in 2007 and 2008 taken togethe

—

ti&gtream in 2005 and 2006 taken together
ris ‘

2005 #2006 F AR o # wmr et omit o | Gl
T } fergr T
s W T A T 3 s # ST 2007 e 2008 #

(A) nilzfi;.ii B) 12:13

© 131508 (D) 10:11

() Question ot attemped / e wer
po11 & 28 28 P10

A P



111 In the -pie chart given below A, B, C, D and E represent the cost of paper, printing, miscellaneous

112

113

work; binding and the royalty respectively in publishing a book.
aﬁ%ﬁqﬂqqﬁ??ﬂéﬁ/\ B,C,D smrqmgm%mmum FHIT, E,FUT ﬁﬁ“‘a"ﬁ 5"3'3 AL
Tt 6y awre it wfafi e w5 e

€

How much is spent on miscellaneous work for publishing 10000 copies of a book, costing T 185 per
book" s G:(30 D

3 185/-%%3%%31@%%10 oooaﬁmwﬁmmﬁ%%qﬁﬁvmﬁqt%ﬂ?r@é%m
ST %‘7 :;

(A) %5,25,000 B) I ;:__s,f}o,ooo

(C©) X 5 55,000 (D) T5,00,000

(E) (Questlon not attempted / 3TTART TH (
Which of the following metals can easily be cut with a knife? R
(A) Magnesium (B) Alummlum
(C) Copper - (D) Lithium £
(E) Question not attempted

Frfrfad & & 1 H T ST & TECTATge i) ST dehel 82

(a) T B) TR
©) F © R

(E) CSrgafaus 58
Propé“ﬁé'rlsan— A

(A) élkyne (B) Aldehyde ,
© Alcohol (D) Alkane ‘
(E) Question not attempted

N
(A) TR y (B) IEEEEE L)
(©) e () e
() SRR sd

Lot] ¢y = T2 | pTO.



“ 7 .
founder of the “India House” in London? =
114 Who was the fou o i mjl Rt

. hna Hari Chapekar
(A) -Balkrishn D) Madaﬂ Lal Dhingra

(C) “V.D. Savarkar
(E) Quéslion not attempted

az:{ﬁﬁmm'a?@@ﬂwaﬁqﬁ? <~
(A) ST it AR (B) W oot H ]
(€)Y, A (D) T 4
(E) rfafa &

115  Which one of the following is an example of Agro-based industry?
(A) Iron-steel Industry (B) Petro Chemical Industry
(C) Sugar Industry (D) Cement Industry

(BE) Question.not attempted
Forrfrfaa o & = 9T Ok H AT Se FT e 20

(A) “lig-gE S (B) TR G
(© =irsm (D) @ﬁﬁza'a‘m
(E) "mﬂﬁaw -

116 thch of the following is an example of Igneous rock? ;N
(A) (Shale (B) Gfanite
© Maxble ';_ i (D) Sandstone
(E) Questlod not attempted
ﬁw%%aﬁﬁaﬁamwﬁaagmﬂm%‘?
@A) WJW ®)
(©) wmow - (D) TETTER
®) %ﬁﬁw '

i <t
117 The ??13!'?3 of elevation of the top of a tower from two soin

@oints P and Q at distances 10 m and 3

respefti_¥§1y, from the base and in the same straight line witkjt, are complimentary. The height gils
tower-is~ (:)

(A) ~5V2 m B 5B

c) 5 i

() Lm ®) 6D

(E) Qucstxovn. not attcmpted
B AT gy T Ay, o, o s A

(A) 5V2 T
©) S5, (B) 543 iex
() T (D) 67T
wd To'
Lo11] 7 G 58 P



118 The radlus of the base and the height of a solid cylinder.are in the ratio of 2:3 and its volume is

119

120

121

1617_9’3113. What is the total surface arca of the cylinder (in cm?)? (n = 32—)
Q 7

T S FArelat 3 ST o e o Srerm ot 1T 2 - 3 2 3k gerer swpr 1617 8t 31 et g

mém(étﬁzﬁ)w%?( =Z73)
(A) 616 B) 770

(©) 786 (D) 462
(E)  Question not attempted / TFaRE w51

How many small cubes, each having surface area of 96 cm® can be formed from the material obtained
by meltmg a larger cube having surface area of 384 cm” 2/

T 384 3l 5 e %mﬁa@mﬁﬁwmm&mﬁﬁmmmm% ot s
e aa' 96 T 82
) 30, ®) 80
©) 2 D) 8%
(E) :,Ewgcstion not attempted / TR T =

Amrita Devi Vishnoi is famous for -
(A) Village Development (B) Saving the. Khejri Trees

(C) Bhagat Aandolan (D) Women Empowerment

(E) Question not attempted 4%

(A) ~apfor forehra < forg (B) T F IS Fa= FH o
(©) mﬁm & ferg (D) T FaRER ¥ R

®) c“‘“‘"*‘

Teja_u was born in which district?

(A) Nagaur (B) Slkar

(©) Jodhpur (D) Ajmer

(E) Question not attempted

(A) A L (B)
(© Sag (@) swar L
(B) A IA

L9 31 o
1] @ g.;g [ P.T.0-
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g ‘Kesaria Balam Aaq Ni Py
har()

ger” who immortalized.the-son

122 Name.the renowned «Mand Sin

st

(@) Gavan Devi
(D) Pifi Singh

Mahare Des’.
(A) Shjlamnl Das
(C) CAllah Jilai Bai

(E) Question not attempted B
ngm-mm'mmmﬁnﬁﬁrﬁa Wmmﬁﬁmm ?ﬁ%m

faram
(A) @A ®) TR
(C) 3T e A% o) diefiE
(E) srmha s

123 Which f:_fthe following is not an alkali metal? <j-
(A) “Sodium (B) Potassium
(©) ‘Mercury D) Li{ﬁligm
(E) (Question not attempted ()
e & 2 e e g 1 22 boET
(A) (@i ® dRRmw
(C) 9 : (D) fabrm #
(E) HIaRaus

124 The blue colour of the sky is because of the phenomenon of -

(A) Scatterinéof light (B) Atmospheric refraction of light
(C) Reflection of light (D) Dispersion of light
(E) Qqestion not attempted ::E“
m@mmmm%wmﬁv ",
(A) (TFRH TAH S
7 (B)  SHIT AT RgHSeRy S1qacd
(C) YT Rl (D) ST T helT
® >
125 Sex dctcrminalién in humans is b
# R is based on type chromosome
Lol ﬁﬂﬁ"r{ e ORI 3 IO 3T ey ) '
@y XX ®)
© YO G ©) )):0
(E) Qucstioﬁ not attempted / 31wl wsy K
o1l B ) o 117"

B



126

127

128

Identify the correct process for DNA to Protein formation-
DNA{V J.‘:(a) mRNA —®, protein

(A) a transcription b : translation
(B) i_a,: replication b : transcription
© “a~Treplication b : translation
(D) q ;‘translation b : transcription
(E) Question not attempted

SITAT ¥ NI T <t wet whmar 6 ugam ot

DNA —=» @) mRNA&)Protein
(A)  a:SiiEhaH b: gEAH
(B) a:ifterhem b: gifshm
(©) -a-XReem b: TEATH
(D) ‘a m‘f b: SifsheE
(B) | aqwaﬁ-crsrar

D ]

%

Select-the primary consumers from their food chain: (Choose the most appropriate option from
belov:r; P e T,

(A) grasshopper, deer, sugarcane stem borer (B) sugarcane stem borer, frog, tiger

(C) snake, fish, bird (D) fishes, frog, grasshopper

(E) Question not attempted -

oy <l ST mmﬁmﬁmaﬁm%mﬁwa&aﬁtmﬁmmﬁwaﬁ:

(a) T, e, T AT A (B) T S, T, A

(© ", woeh, Tl i) mmﬁw

(E) (eﬂﬁf(a

{"
,._'

Wh]chnf the following techniques is useful 1dent1ﬁcat10n tool in forensic science?
(A) DNA fingerprinting (B) Aglo?dlomphy
(€) Gene therapy (D) RNA interference

(E) Question not attempted

Wﬁammmmmawm%mmm@
) B i (B) aﬁz‘ft%u‘mrﬁr
(©) Sfi adt (D) ALY Szﬁﬁl |

® IFFHRAIA

33 v
Lot 28 | PTO.




129 Match List-T with List-1I Lisi-ll

i Antibodies in plasma
Blood Group )
A L Anti’A
- I. Ani-A,B
o~ B ti~B
«c.~ AB II1. An{_ll
d) o IV. Nil'/
-1 0 -1 & gAterd it :
w1 Het-11
= CATTAT § CUAATSIS
a A L Anti- A
b. B II. Anti-A,B
c. AB III. Anti-B
Choose the most appropriate answer from the options given;below:
e o e foeredt 3 & watfres suaes swegf f;ﬁ
(A) a-ILb-Lc-IV,d-III (B) as IVb Lc-IL,d-III
(©) -a-NILb-Lc-IV,d-1II (D) a- I b IV,c-1III,d - II
(E) “Question not attempted / mﬂf(ﬁ gq o
"'5..‘
130

When a current carrying aluminum rod is placed in a m%netnc field, the displacement of the rod is
largest when the direction of current is -

(A) atright ang]e to the direction of the magnetic field

(B) at60°to the direction of the magnetic field

(C) less than 90° to the direction of magnetic field

(D) parallel to the direction of the magnetic field

(E) Questionnot attempted :

el Wk forga am v (@raﬁa’wﬁ)'l?@ﬁmﬁmaﬁaaﬁa &1 3 vy e &, A v 1 e
aaz?mﬁmaa‘@m%aaﬁm LT A e S ésrﬁﬁ%?ﬁ'

(A) FTRTRHHE

L)
®) ¥ 605 1
©) A 90 A D) e giz
(E) ~STJuiw uy e
131 Whichof the Vfoll‘owing is NOT an outcome of transgeméganismq
(A) Bt cotton ' -
(B) Golden rice
Pusa §
(C) Pusa wamnm (Karan Rai) (D) Flayr SAVE vag
. (B) Qucstlon not altcmptcd arlety of tomato
© Wﬁﬁh@wm ® i U (G180 e
(B) FIaRa Wy (D) mﬁmﬁa{ﬁ,—g
Lotl @ 34 Eﬁ [I’To'
&

7 o V|



132 The amoebiasis is categorisedasa____ diseases.
(A) ~fungal (B) bacterial
(©) CViral (D) protozoan
(E) “Question not attempted
sfferfira 2 it 3w 3 et T T
(A) & (B) e
(©) (TF (D) WEsieE
(B) Faiaws
133 Fourresistance 1 Q,2Q 4Q and 4Q have been joined in a circuit to obtain lowest resistance of the

134

135

combination of the four. Its value will be :
TR 1 Q20 40 3t 4 Ty R AR TR R S T B AT

(A) 0250 ®) 10
© _15Q D) 05Q
(E) =,:Ql'uestion not attempted / I T

The fiap between two neurons is called a -
(A) “synaptic cleft (B) axon~”

(C) _impulse (D) dendrite

(E) -Question not attempted

3 <R TR 36 T et T Y Fed 8- o
(A) RAftes aiw ‘ (B) TN
(C) & (D) g
(E) 3TIaia 54

Identify from the following statements which are true for carbon Compounds:

a.  They form long chains of carbon atoms which are arrzihééd in branch and ring structures.

b.  They are good conductors of electricity.
c.. They have high melting and boiling points. ..
| :

_d_. They form covalent bonds. . f

Choo_js:e”the most appropriate answer from the options given below:
- (B) a/c'and donly

(A) Cdand d only Car

(©) Cayband d only (D) ahndeonly
“Ouestion not attempted ‘

(E) TQ_q_es i

wmzﬁwﬁsﬁﬁ?wﬁﬁﬁ@%mw%
%mﬁquaﬁ?iﬁﬁaj@wém%?hmaﬂtmwﬁmma

3 forege & 3T HaTe B4 8 .

T eI S T 3% B & ;

g TS s a41d 8l o~

43 frg g foreredl 1 @ waffrs S9g@ SaCH

(A) Faera 3Nd (B) &Tcrﬁa,ce:ﬁtg

© aﬁﬂa,b;ﬁ(d (D) aﬁaaaﬁt_c:

(E) apaia 94 ’

i)

e o o »lC
-

WE
0]

35 :
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136  In which part of Himalayas is the ‘karewa’ land form found”

137

(A) ~Kashmir Himalayas (B) North -Eastern Himalayas

(C)  Himachal - UttaraKhand Himalayas (D) Eastem Himalayas

(E) Question not attempted

fearerT & frg wymr & ‘R ¥ ATHRT firerelt 22

(A) (R ferrera (B) mqﬁ%‘qﬂa
© fena-swErs e (D) gt e
(E) orgaiayd

Which of the foiiowing wild life sanctuary is situated in Rajasthan.

(A)  Govind.. (B) Chinnar

(C) Periyar - (D) Ramearh Vishdhari
(E) -Question not attempted =~ 0000

fafafaa i d smaraa s Wuwmi‘rf@m%'ﬁ“

A) Mfa= (B) 1%!=m
(C) “AfEm (D) e R
138 Aizawlis capital of :
A) Tnpura h (B) Manipur
© Nagaland (D) Mizoram
(E) Question not attempted ;
(a) P ®) "R
(C) M (D) frfor
(E) ;_«agﬁﬁaﬁa gg
139 SOdiu;h metal is stored in: ::
(A) _‘Alcohold_ (B) Petrol
(C) Water ) : (D) Kerosene
(E) Question not attempted
dfemay (2 e a3
(a) T @) ¥
© T (D) WA
(E) ST 94
L91] @ 36 % [PTO.



140 Match List-1 with List-11

= List-I (vitamin) List-II (use)
aw Vitamin A I.  Helpsbody to use calcium for bones and teeth
:: b..  Vitamin C II.  Blood clotting
C._.  Vitamin D III.  Kceps cyes healthy
~d=—  Vitamin K IV. Help body to fight against diseases
Hef-ISiagE-1 & gifera A :
-1 (Frefim) -1 (394 )
a. frfma L et ot aidi 3 ferg e fr & s
o geTIal Fdl &
b. frfmcC I, SIS FAleT
c. TfimD L AT ! e @ 8
d fefFk v, it fg wre il 31 FerEaT T 8

Choose the most appropriate answer from the options given below:

R R e Rt 7 & gl S ST T ; =
"'me IV,c-ILd-1I (B) alllLb-IV,c-Ld-1II

(A) “a-
© ,a IVbIIIcIIdI (D)aIbIIcIILdIV
(E) \Questlon not attempted / mﬁ?f e S

Cﬁ -

141 The value of (log27 + log32) is

2
) S (A) L ®B) 7
= 1
L0 — ® 4
(E) Questlon not attempted / ST T2 <r
142 If xﬂ-—%— = -l-‘iz, x>0 then what is the value of x~ + ;3—‘?
x e
afE x x\#—lf=]—z,x>0,ﬁa X +—'-3- HTHA T
-t 2 4 x o)
@ "oy i
T ® % i
: 9 .
717 -9 p—
i~ 1—_;/_: (P73

(E) Question not attempted /Sﬂﬁﬁ?fﬂ’,‘l

O]

Lo1) iy 37 %2 [P.TO.




i <3t
143  Which of the following is/are factors of (x+y)3 - (x3 +,V)"

¢ ™ 2
Q) x?+ y2 + 2xp b. x'{_‘tvy - Xy
} ( )
@ 0 d xx
Choose the most appropriate answer from the options given below:
(A) “donly (B) a, (cand d only
(C) “Yahd ¢ only (D) banddonly

(E)  Question not attempted

Prfafaad a e (v + ) - (3 +,3) F TS §/2?

a. le.-'{-y2+2xy b. x2+y2—x}’
c. xj} 23 d. xy
ﬂ%ﬁqwﬁmﬁﬁmmwaﬁ
A) Fad (B) Faeja, ¢ Id
(©) “Faeadite (D) FaTbIANd
(E) faﬁaﬁaw g:
&

144 AABC and APQR are congruent triangles. If £ ABC = 625 and £ PRQ=80°, then Z CAB s :
A ABC3 APQR wafmam By & afk £ ABC = s2°, SﬁI“APRQ—SO" d9 L CAB?
(A) d4g° (B) 5%~
(©) “80° ¢ ©) 46>
(E) Question not attempted / STTART I

145 In AABCand’ APQR, AB=PQ, /B=,Q,
(A) AABC and A PQR are similar
(B) AABC and A PQR are not similar
(C) AABC and A PQR may or may not be similar
(D) AABCand A PQR are congruent
(E) Questlon not attempted
AABC3iA PQR AB=PQ, /B=/0Q, %aaﬁﬂ%fﬁ’@}%ﬁ‘—rmmm%o
(A) 4 ABC 3T A PQR TWRq 2 OA
(B) (AABCS3R A PQR &y 7 & -
(C) “AABC3K A PQRmamémmtﬁM%
(D) _AABC3 A PQR wafmaw &

then which of the following statements is true?

(®) wafe s S

146 D isapointon lhe side BC of a A ABC such that AD bisects £ BAC, Then which of the following
is correct By
Egs%wc ﬁzﬁn BCwfidg D sw w6 AD, £ BAC RN e & 8y & A
(A) BD=CD: (B) BA>BD
(© BA=BD, (D) BD>BA ©

(E) Qucstlon not attempted / 3TFwRE Wi

538 [P.T.O.




147 Which.of the following is a poitical consequence of industrial revolution?
(A) ~The Colonial Competition gained momentum through industrial revolution.
(B) fﬁPrOduction and commerce grew on a large scale and economic imbalance occured.
(©) “Amew social class emerged, moral values declined ; and the joint family system got scattered.
(D) . ‘Cottagc industries were destroyed.
(E) <Question not attempted
F=fafaa & @ w5 ar shafes wifd = Mﬁa?q&vrm%? ,
(A)  ivenfis swifa & e & sfafrafies giweut wr af fic
(B) e iR afirew & o A W gfg g8 ofit anfiler sreiqer et gam

(C) U FlIH AT a7l ot 34 g, ﬁﬁﬁq?ﬁﬂi{ﬂgaﬂa’r{gg?ﬁqmmmtﬁ
(D) FERIMTAT R

(E) igaiawH
148  Where is the secretariat of SAARC, located?
(A) T himpu (BHUTAN) (B) Kathmandu (N EPAL)
(C) ~Dhaka ( BANGLA DESH) (D) New Delhi (INDIA)
(E) Questlon not attempted Lo
A (SAARC) 1 ey et e fer 27
(A) P o) (B) W 5 (A1)
(C) ~@TehT (STITeATRRT) (D) qéﬁwﬁ (AT
(B) (Srgaia oA
149 Write the full form of ‘NATO’ e
(A) New Atlantic Treaty Office  ° (B) New Atlantic.Treaty Organisation
(C) . North Asian Treaty Organisation (D) North Atlantip Treaty Organisation

(E) Questionnot attempted

NATO’ T T (F HTH) B- N
(A) wmﬁ%aﬁaﬁm (B) = SRS A AT

(C) < T e S D) mﬁmﬁmmaﬁq@m
(E) mﬁa 94 "

150 Wtuch ot‘ the following statement is NOT correct about various folk dance forms of Rajasthan?
A) ngm dance is a famous dance of Bharatpur and Alwar region.
(B) <In2022, UNESCO included Valar dance form in its intangible cultural heritage list.
© Agm dance form of Jasanathi cult originated in Katrlyasar village of Bikaner.
(D) “Ghudla dance is performed only by women.
(E) Question not attempted <

mm%ﬁﬁﬁ%ﬁmamsﬁ%aﬁﬁﬁmﬁf@aﬁ:aﬂwmwmwa
A aq:{mamataﬁt &7 &1 e 9iig T el
E_B; a&zozzﬁuﬁﬁ%ﬁz{mgqmmﬁmmmaﬂﬂﬁwﬁamw
© meaﬁqmwm%aﬁmnﬁﬁwngm
(D) ggmqw%aan%wzﬁ%mmwil :
(E) 3rgafa 94
L1l gy * %% [P.T.0-
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